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	 b)	 Example answer: There should be no counters in the tens column and four counters in the ones 
column to show 304. The counters in the tens and ones columns for 257 should be swapped.

2)	  a)   Letitia is not correct.

	 b)	 Example answer: If the 6 is in the hundreds column, it will be worth 600, not 60. Children 
should be able to explain that the value of a digit changes depending on its position
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Example answer: She has forgotten that the counters could be worth more than one each if they are 
in the tens or hundreds column. She has also forgotten that she can’t put all fifteen counters in the 
ones column.

Children should identify that 732 can be made in many different ways. For example: 700 + 30 + 2; 600 + 130 + 2; and 
so on. They may begin to work systematically.
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